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1. The general solution of the equation 1tan =x  is 

 

 A. 
4
ππ += nx , Z∈n .  

 

 B. 
4
ππ ±= nx , Z∈n . 

 

 C. ( )
4

1 ππ nnx −+= , Z∈n .   

 

 D. 
4

2 ππ += nx , Z∈n . 

 

2. The graph of ( ) 22 42 xy −=−  is 

 

 A. a parabola. 

 

 B. a circle.  

 

 C. a point. 

 

 D. a pair of straight lines.  

 

3. What is the remainder when 821 xxx +−+− K  is divided by 1+x ? 

 

 A. 1− . 

 

 B. 1 .  

 

 C. 8 . 

 

 D. 9 .   
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4. Which of the following is an even function of x ? 

 

A. xxf 2sin )( = .  

 
B. xxxf 3cos )( = .  

 
C. xxxf tan )( = . 

 

D. 12)( 24 +−= xxxf . 

 

5. ( ) =x
x

sin
d
d

13

13

 

 
 A. xsin .   
 
 B. xsin− .  
 
 C. xcos .  
 
 D. xcos− . 

 

6. Evaluate 
1

log
lim 21 −→ x

xe

x
. 

 
 A. 0 .     
 

 B. 
2
1 .  

 
 C. 1 .  
 
 D. 1− .   
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7. Differentiate ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

−
+−

2

2
1

1
1tan

x
x  with respect to x. 

 
 A. xtan .     
 

 B. 21
1
x+

.  

 

 C. 4

2

1 x
x
+

.  

 

 D. 41
2

x
x

+
. 

 

8. Which of the following is true regarding the function ( ) 61232 23 +−+= xxxxf ? 

 

 A. It has no local maximum point. 

 

 B. 0=x  is a point of inflexion. 

 

 C. It has a local maximum point at 2=x . 

 

 D. It has a local minimum point at 1=x .  

 

 

Solutions 

1. A. 
4
ππ += nx , Z∈n . 

2. B. a circle. 

3. D. 9 .  

4. B. xxxf 3cos )( = .  

5. C. xcos . 

6. B. 
2
1 . 

7. D. 41
2

x
x

+
. 

8. D. It has a local minimum point at 1=x . 


